
The Maxwell stress tensor is given by: 

A.  ε0(EzEx-­‐½(Ex2+Ez2))	
  
B.  ε0(EzEx-­‐½Ey2)	
  
C.  ε0(EzEx-­‐½(Ex2+Ey2+Ez2))	
  
D.  ε0(EzEx)	
  
E.  None	
  of	
  the	
  above	
  

� 

Tij = ε0(EiE j − 1
2δ ij E

2) +
1

µ0

(BiB j − 1
2δ ijB

2)

What	
  is	
  the	
  E	
  field	
  part	
  of	
  the	
  Tzx	
  term?	
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The Maxwell stress tensor is given by: 

A.  ε0(Ez2-­‐(Ex2+Ey2))/2	
  
B.  ε0(Ez2-­‐½(Ex2	
  +Ey2)	
  
C.  -­‐ε0(Ex2+Ey2)	
  
D.  ε0(Ez2)	
  
E.  None	
  of	
  the	
  above	
  

� 

Tij = ε0(EiE j − 1
2δ ij E

2) +
1

µ0

(BiB j − 1
2δ ijB

2)

What	
  is	
  the	
  E	
  field	
  part	
  of	
  the	
  Tzz	
  term?	
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